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Suez Canal Bridge
(vertical clearance : 7Cm / longest span : 404m)

Verrazzano-Narrows Bridge
(vertical clearance : 80m / longest span : 1298m)

Golden Gate Bridge
(vertical clearance : €7.1m / longest span : 1280m)

Yi Sun-sin Bridge
(vertical clearance : 80m / longest span : 1545m)
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+  Submersible Drilling Unit ‘ ’
¢ Height: 130.93m

v Draft : 23.50m

v Airdraft : 107.43m ‘

+ Windfarm Installation
Vessel(WIV) Pacific Osprey

v Height: 106.4m
¥ Draft : max 6.0m
v Airdraft : 100.4m
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Vertieal cearance Longest span
Bridge of the Americas (Panama) 613m Wm
Great Belt Brdge (Denmark) sm 1624m
Beyonne Bridge (Newyork) 6m siim
Golden Gate Bridge 6m 1280 m
Suez Canal Bridge (Suez) om 404m
Gentennial Bridge (Panama) 0m m
Verrazzano-Narrows Bridge (Newyork) 80m 1298 m
Vi Sun-sin Bridge (Kwangyang) 0m 1545 m

4. oM e S| sjaine FAt

5. gpzE

4.1 Heo|L{H Fo g=o| 4D (1)

Beyonne Bridge
(vertical clearance : 66m / longest span: 517 m)

Centennial Bridge
(vertical clearance : 80m / longest span : 420m)

Bridge of the Americas
(vertical clearance : 61.3m / longest span : 3d4m)
—— =

Great Belt Bridge (East Bridge)
(vertical clearance : 65m / longest span :
I m
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